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Instructions to the Students

l.

E\J

This Question paper consists of two Sections. All sections are
compulsory.

Section A comprises 10 questions of objective type in nature. Al
questions are compulsory. Each question carries 2 marks.

Section B comprises 8 essay type questions out of which students need
to do any 5. Each question carries 10 marks.

Read the questions carefully and write the answers in the answer sheets
provided.

Do not write anything on the question paper.

Wherever necessary, the diagram drawn should be neat and properly

labelled

Roll Number
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SECTION -A (OBJECTIVE TYPE QUESTIONS)
(10x2=20 Marks)

The number of elements in the power set of the set {{a.b} .c,d} s

a) 8 b) 4 c) 3 dy7

A college warded 38 medals in football, 15 medals in basketball and 20
medals in cricket. If these medals are given to 58 players and all the
three sport medals are given to three players only. How many players
got the exactly two of the three sports medals?

a} 8 b)4 c) 5 d)9

Relation between Arithmetic Mean (A.M.). Geometric Mean (G.M.),
and Harmonic Mean (H.M.} is:

2) A_M__[G.M;H.M.]

by GM=vAMxHM.

¢) GM.=(AM=HM.)

1 .
1+—+—+—7+ ...... wis equal to

a) O b) 1.5 c) 2.5 dy 3

! :E+L, then value of P:
x(x=1) x x-1
a) 1 b0 )2 d) -1

It"C, = "C,,. then value of n1 1s
a) 13 b) 11 c) 14 dy 15
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Ql

sin 150" + cos 150" is equal to
a) 0 by 1.5 ¢) 2 d) None of these

Choose the correct formula
a) sin A =2sinA/2 cosA/2
b} sin2A=sinA cosA
¢} sin2A=3sinA cosA
d) sin2A=sin"A cos"A

The polar coordinate of the point P = (2,2} is:
ay (2,30%)
by (2v2,45")

Lo

-9
c) (2, 0]
dy (2, 60")

Slope of line passing through the points (-3.-2)and (1, 2 )is:
a) |1 b) 2 c) -2 d) -1

SECTION -B (ESSAY TYPE QUESTIONS)
(5x10=50 Marks)

If f:R — Rthen draw the graph of the function

(i) f(x)=2-x

(i) f(x)=|x+2|

(1)The sum of three numbers in a Geometric Progression is 26 and their
product is 216, Find the numbers.

(11) The sum of # terms of two arithmetic progressions are in the
ratio (3n+ 8): (7n +15}. Find the ratios of their 12" terms.
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Q3

Q4

Q5

Q6

Q7

Q8

(1) Find the number of words, with or without the meaning, which
might be formed by using the letters from the word MONDAY. Note
that. repetition of the word is restricted, it

a} At atime. 3 letters can be used.

b} All the letters can be used at a time.

¢} First letter is a vowel and all the letters are being used.

(i1) Find the coefficient of x"in the expansion of (1+ Qx)(" (1-x)

Atan v(] —tan’ -
Prove that tan dx = — 2 (1 —tan” x)

|—-6tan” x+tan’ x

(i) Find the equation of line passing though the points (1,-1) and
(3.5). Also find the slop of perpendicular line to it?

(i1) Find the distance between the
lingsdx+3y-9=0and4x-3y+9=0 7
Decompose the following in to the partial fraction:
¥ 2x" v x v x4 s
X -2xT4x-2

. . 9y .5
1} Prove that cos2x cos% —cos3x cos% =sinSxsin % .

i1) In a group there are 40 people, 17 speaks Hindi and 08 can speak
both Hindi and English. How many people can speak English only?
1) Find the value of x for which the points (x.—1),(2,1)and (4,5) are
collinear?
. 1 1 11 1 . .
i if ¢ —+— |.B| —=+— |.c| —+— | are in A.P.. Prove that «.h.care in
h ¢ ¢ a a b
AP?
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